L*tupanp=d In [ 1 +b-(Y/Y,)]

L* cieLag =116(Y/Y,) =16 (Y,=100, 0,8% Y)

d=25,6 b=6,141 [2a]
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L*tuganp=d In [ 1+ b (Y/Y,)]

d=25,6 b=6,141 [2a]

L*tupanp=d In [ 1 +b:(Y/Y,)]

L* cieLag =116(Y/Y,) =16 (Y,=100, 0,8% Y)

d=25,6 b=6,141 [2a]

[2b] L* cieLas =116(Y/Y,) 3-16 (Y,=100, 0,8% Y) [2b]
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L*tuganp=d In [ 1+ b (Y/Y,)]

d=25,6 b=6,141 [2a]

[2b] L* cieLas =116(Y/Y)*-16 (¥,=100, 0,8% Y) [2b]

2 2 -
170 2277 wein,
=

-
L4
e = miz0.77, 00 2

E e

L*y,cieLas =49, Y =8 o schwd
1
1

0 YN=3.6 | 1Y,=18 Yy, =90 o Y\=3.6 | 1Y,=18 Yy,=90
0 50 100 150 0 50 100 150Y

ego13a

egi-aa

egf91-3n




